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(@) NH3

Rbase= 0.103 , slope=0.116
Rbidi = 0.413 , slope= 0.652
Rfire+bidi= 0.403 , slope= 0.69
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(c) NO3
Rbase= 0.121 /Slope= 0.474
- Rbidi = 0.277 ;slope= 1
= Rfire+bj 259 pe= 1.518
]
£t .
() ‘. .
L

I I I I I I
0 1 2 3 4 5

Measurements (ug m3)

Model (ug m™)

Model (ug m?)

2 3 4 5 6

1

0

15

10

(b) NH4

Rbase= 0.294 | slope=0

Measurements (ug m™)

. &° Rbidi = 0.321, slop 4
L Rfire+bidi= 0.2857, slope= 0.389
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(d) SO4
Rbase= 0.257 , slope= 0.209

Rbidi = 0.254 , slope= 0.198
Rfire+bidi= 0.236 , slope= 0.494
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